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then we moved the n — 1 discs on top.
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Solution: We solved these by first piling the all but one of the
discs onto pole 2 (which takes the same number of moves are
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then we moved the n — 1 discs on top.

Let H,, be the be the number of moves needed to solve the puzzle.
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Initial condition: H; =1
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Bit strings

Find a recurrence relation and give initial conditions for the
number of bit strings of length n that do not have two consecutive
0s. How many such bit strings are there of length five?
Examples:

n=1: {0,1}

n=2: {01,10,11}

n=3: {010,011,101,110,111} = {011,101, 111} w {010, 110}
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Strings that end in a 0: if an admissible string ends in a 0, then
the second-to-last bit has to be a 1. So this falls into the first case,
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’an—l—l = @y_o Of these‘

Rec. rel.: a, = a,_1 + an_2, Init. conds.: a; = 2, ay = 3.
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You try: Exercise 30






